Review 3
AP Calculus AB—-73

3.  The slope of the line tangent to the graph of y = ln(xz) at x=e? is

1 2 4 1 4
(A) =z (B) =z © =z D) 3 B 7

4. If f(x)=x+sinx, then f'(x)=

(A) 1+cosx (B) 1-cosx (C©) cosx

(D) sinx—xcosx (E) sinx+xcosx

6. If f(x):x—_i for all x#—1, then f'(l)=
X+

1 1
A -1 ®B) - > © 0 D) > B 1
9. Ify= cos? 3x, then d_y=
dx
(A) —6sin3xcos3x (B) —2cos3x (C) 2cos3x
(D) 6¢cos3x (E) 2sin3xcos3x
X
10. The derivative of f(x)= 375 attains its maximum value at x =
4 5
A -1 B) 0 © 1 D) 3 (€3] 3

11. Ifthe line 3x—4y =0 is tangent in the first quadrant to the curve y = x> +k, then kis

1 1 1 1
(A) 5 B) 2 © 0 (D) -3 (E) -



14.

18.

22.

23.

26.

2

1
If f(x)=x>(x—2)3 forallx, then the domain of f* is

() {x|x=0} ®) {x|x>0} ©) {x[o<x<2}

(D) {x‘ x#0 and x# 2} (E) {x| x is a real number}

i(arcsin 2x) =

dx
-1 -2 1
A) —— B) ——— ©) ——
24/1—4x2 | 21— 4x2
(D) 2 (E) 2
1—4x> 4x? -1

Given the function defined by f(x)= 3x° —20x>, find all values of x for which the graph of f is
concave up.

A x>0
B) —V2<x<0 or x>+2
C) 2<x<0or x>2

D) x>2
(E) —2<x<2

.1 2+h) .
lim —ln| —— | is
h—0 h 2

A) & B) 1 (©) % D) 0 (E) nonexistent

The radius » of a sphere is increasing at the uniform rate of 0.3 inches per second. At the instant
when the surface area S becomes 1007 square inches, what is the rate of increase, in cubic inches

per second, in the volume V' ? (S =4nr? and V = gnr3)

(A) 10m (B) 12n (C) 225n (D) 257 (E) 30m



33. Suppose that f is an odd function; i.e., f(—x)=—f(x) for all x. Suppose that f ’(xo) exists.
Which of the following must necessarily be equal to f*(—x;)?

A)  f'(x)
®B) -f"(x)

©)

D)

(E) None of the above

n

36. If y=€™, then dy

n

(A) n"e™ B) nle™ (C) ne™ (D) n"e* (E) nle*

dy
40. If tan =x, then —=
(x) l

2
A) 1- y tan(xy) sec(xy) ®) ¢ () -y ©)  cos2(xy)
x tan(xy) sec(xy) x
2 20N v
X X

44. For small values of 4, the function \4/16 +h is best approximated by which of the following?

h h h
©) 4- ® 2-1

32 32



